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1. 000 8. 750 1. 583 0.973 1. 540 6. 045 1. 447 —O0K—
1. 250 11. 000 1.613 0.973 1. 569 6.158 1. 786 —O0K—
1.500  13.250 1.639  0.973  1.595 6.260  2.117  —O0K—
1. 750 15.500 1. 664 0.973 1.619 6. 355 2. 439 —O0K—
2.000 17.750 1. 686 0.973 1. 640 6. 437 2.7157 —O0K—
2. 250 20. 000 1. 707 0.973 1. 661 6.519 3. 068 —O0K—
2. 500 22.250 1.727 0.973 1. 680 6. 594 3.374 —O0K—
2.750 24.500 1.746 0.973 1. 699 6. 669 3.674 —O0K—
3. 000 26. 750 1.763 0.973 1. 715 6. 731 3.974 —O0K—
3.250  29.000  1.780  0.973  1.732 6.798  4.266  —OK—
3. 500 31. 250 1. 797 0.973 1.748 6.861 4.555 —O0K—
3.750 33. 500 1.812 0.973 1.763 6. 920 4.841 —O0K—
4. 000 35.750 1. 828 0.973 1.779 6. 983 5.120 —O0K—
4. 250 38. 000 1. 842 0.973 1.792 7.034 5.402 —O0K—
4.500 | 40.250  1.856  0.973 1.806 7.089  5.678  —O0K—
4.750 42.500 1.870 0.973 1. 820 7.144 5. 949 —O0K—
5. 000 44.750 1. 883 0.973 1.832 7.191 6.223 —O0K—
5.250 47. 000 1. 896 0.973 1. 845 7.242 6. 490 —O0K—
5.500 49. 250 1. 909 0.973 1. 857 7.289 6. 757 —O0K—
5.750 51. 500 1.921 0.973 1. 869 7.336 7.020 —O0K—
6. 000 53.750 1.933 0.973 1. 881 7.383 7.280 —O0K—
6.250 | 56.000  1.945 | 0.973  1.892 7426 7.541  —OK—
6. 500 58. 250 1. 956 0.973 1.903 7. 469 7.799 —O0K—
6. 750 60. 500 1. 968 0.973 1.915 7.516 8. 049 —O0K—
7.000 62. 750 1.979 0.973 1.926 7. 560 8. 300 —O0K—
7.250 65. 000 1. 989 0.973 1.935 7.595 8. 558 —O0K—
7.500 67.250 2.000 0.973 1. 946 7.638 8. 805 —O0K—
7.750 69. 500 2.010 0.973 1. 956 1.677 9. 053 —O0K—
8. 000 71.750 2.021 0.973 1. 966 17.717 9.298 —O0K—
8. 250 74. 000 2.031 0.973 1.976 7.756 9.541 —O0K—
8. 500 76. 250 2.041 0.973 1. 986 7.795 9.782 —O0K—
8. 750 78. 500 2. 050 0.973 1. 995 7.830 10. 026 —O0K—
9. 000 80. 750 2. 060 0.973 2.004 7. 866 10. 266 —O0K—
9.250 | 83.000  2.069 | 0.973  2.013 7.901  10.505 ~ —OK—
9. 500 85. 250 2.079 0.973 2. 023 7. 940 10. 737 —O0K—
9. 750 87.500 2.088 0.973 2.032 7.976 10. 970 —O0K—
10. 000 89. 750 2. 097 0.973 2.040 8. 007 11. 209 —O0K—
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§8. HHIEmDOZE (/A E )

8-1. A L T DOk
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Lyt
Fe = 2Xh,
2z, Fy o A TICHT HRER (PR EEFE F, = 1.0)
Ly, + LHEEEmMOREREE (n)
L, = Ly+h, = 3.500 + 1.000 = 4.500 m
Ly : EREEEORANE (n) Ly = 3.500 m
h, : HITF/KDOKNZE (m) h, = 1.000 m
#hE GL
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b
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X8-1 /34 B2 7 Ot ik
8-2. /XA U TITHhIT DEEETR
Lyt
Fe = 2Xh,
_ 4.500 + 3.500
2 X 1.000
= 4. 000 > F, = 1.0 —0K—
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8-3. AL T EHIETAI-ODMLIERANE
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Ly, +1L;
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Foa = 2%h,

h, XF_,
? 2

—
1\%

22, Ly N ETHIE DO O LERANE (n)

)

1.000 X 1.0

—

= 0.500 m = Ly = 3.500 m



